Exercises 1b - simple integrals
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Find the primitive function to the function f(x) = =0 o [—1 arcsin(1 —2z) ]
— (1 -2z
1
Find the primitive function to the function f(z) = —. 3 In(3z + V1 + 922).
Find the primitive function to the function f(z) = sin(2z + 1). [—1 cos(20+1) ]
Find the primitive function to the function f(z) = sin(2 — 3z). 4 cos(2 — 3z) ]
Find the primitive function to the function f(x) = sinh(4x + 3). [1 cosh(4z +3) |
Find the primitive function to the function f(z) = cos(3z + 2). 3 sin(3z + 2) ]
Find the primitive function to the function f(z) = cos(3 — 2x). [—2 sin(3 — 22) ]
Find the primitive function to the function f(x) = cosh(4z — 1). [1 sinh(4z — 1) ]
Find the primitive function to the function f(x) = [—1ed72 ]
43ac+4 T
Find the primitive function to the function f(z) = 4374, i
n
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Find the primitive function to the function f(z) = 3'73, {— o3
n
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Find the primitive function to the function f(z) = 10372 [— S0 -
n
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Find the primitive function to the function f(z) = 272+, [— o
n
1
Find the primitive function to the function f(x) = T . [1tg(2z +1) ]
1
Find the primitive function to the function f(z) = (3 —22)" [—1 tg(3 —22) ]
1
Find the primitive function to the function f(r) = —5——. [~ cotg(3z — 2) .].
sin®(3z — 2)
1
Find the primitive function to the function f(z) = —5———. [1 cotg(4 — 2z) ]
sin”(4 — 2x)
1
Find the primitive function to the function f(z) = [T [1 arctg(2z — 1) ]
1
Find the primitive function to the function f(z) = 72807 [—1 arctg(2 — 3z) ]
Find the primitive function to the function f(z) = (3z + 4)'°. [55 (3z 4+ 4)" ]
Find the primitive function to the function f(z) = (3 — 2z)8. [—5 (3 —22)° ]
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Find the primitive function to the function f(z) = (1 — 4z)5.

Find the primitive function to the function f(x) = /3z + 1.

Find the primitive function to the function f(z) = TS
x

Find the primitive function to the function f(x) = /3 — 2.
1
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Find the primitive function to the function f(x) =

—_. —22-3x.
2 3¢ |: 3 X ]
Find the primitive function to the function f(z) 2 { ! ]
ind the primitive function to the function f(z) = —_——.
(4x — 5)3 Vér —5
3
Find the primitive function to the function f(z) = 5 as [—In|2 — 3z ]
— 3z
1
Find the primitive function to the function f(z) = r— [1 In|2z — 5| ]
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Find the primitive function to the function f(z) = (4—5)2 [—2(4 5) ]
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Find the primitive function to the function f(x) = =302 {4 3 ]
— 3z — 3z
1
Find the primitive function to the function f(z) = — 2 5P 2322 -5 ]
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Find the primitive function to the function f(x) = a0 {m .
— 3z — 3z
: o : . 1 1
Find the primitive function to the function f(z) = Gz £ 1) [—m .
x x
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Find the primitive function to the function f(x) = 1= oa)" {m :
— 2z — 2z
1
Find the primitive function to the function f(x) = o [ In(2z + V422 — 1) ]
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